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Gokhale Institute of Politics and Economics
(Deemed to be University u/s 3 of the UGC Act, 1956)
Pune — 411 004

Entrance Examination for M.A.(Economics) Programme
SECTION A

What is the sum of all numbers from 1, 2, 3, ....60 ?

1,2, 3, ..... 60 TUd d TReit st foelt 3mg?
1830
1640
1755
1250

The least perfect square, which is divisible by each of 21, 36 and 66 is:

Aaq quia, St 21, 36 30T 66 TS fAUSHET 3MTe:
231444
214344
213444
214434

Tyre of bus is having diameter of 0.7 m. How many revolutions will the tyre take to cover
the distance of 22 km between the two villages ?

UhT ST IIemEl A 0.7 Hiex 8. &F Mamdid 22 fed siar guf
HIUANTS aTehrd fobdl TR Bldted 2

11000
11500
10000
10500

A train takes 50 sec to cross a boy travelling at 6 kmph in the opposite direction to it.
Another train which is half as long as and 25% faster takes 30 sec to cross the stationary
pole. Find the approximate length of the second train.

Thl oAar o favg @R 6 fodl ufda 9 Ua SRum=n g
AerSTarEdt 50 Ve AT, ul%wéqﬁ&na{%ﬁmaw&rrﬁr%%
AT TG SR GER AT THT RR WA UR FRUANTE 30 9
ANTAId. @R, g1 ol gl el qmeT.

75 m

190 m

125 m

100 m
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The cube root of 0.000216 is:
0.000216d °9 U5 3Tg.

7.7
87
0.06
0.6

If 2 kg of metal, of which 1/3 is zinc and the rest is copper, be mixed with 3 kg of metal, of
which 1/4 is zinc and the rest is copper, then what will be the ratio of zinc to copper in the
mixture?

1/39% 9 IARd did Sraar 2 fhdl Ui T 1/4 SRd 30T IaRd did srcied
3fpdl urquel fogeer e R & Myondla SR sftr disard gHoT B
3 2

17 :43
19 :43
13:42
15:42

The difference between the length and breadth of a rectangle is 23 m. If its perimeter is
206 m, then its area is:

Ww&nﬁw—cﬁmﬂawzsrﬁ&@ R A gk 206 Hiex
AT W I FhE 3R

2520 m2

2480 m2
2420 m2
1520 m2

In a 100 m race, A beats B by 10 m and C by 13 m. In a race of 180 m, B will beat C by:

100 Hlex wfdfia @A & ar 10 dexm onfor = 13 diew Wiva Far R,
180 Hlex Y1qugTedl XA, &' gl Al q WRIMA I

5m

6 m

4.5m

54 m

What value should come in the place of question mark (?) in the following number series?

gyfrg (2) SN B0 Jed  3RIa?
758, 761, 773, 800, 848, ?

1245
1175
1056
923



Q.10  Area bounded by the curve y = sin x and the x-axis between x = 0 and x = 27w is

y=sinx% x =0 30 x =27 GIFT &THS fbadl A ?

A 1 square unit
| IRY Uhdh
B 2 square units
2 ARY Uhdh
C T square units
n ARY Thd
D 4 square units
4 IR UH®

Q.11  What value should come in the place of question mark (?) in the following number series?

TR (2) @ S HIU eI 3ra?
3328, 1662, 829, 412.5, 7

A 178.25
B 204.25
C 206.125
D 156.75

Q.12 What value should come in the place of question mark (?) in the following number series?

gyfg (7)1 SN B0 eI 3RIa?

117,119, 241, 727, 7, 14571

A 3782
B 3156
C 2913
D 4175

Q. 13 There are three women on the platform of a train station. The train that they are waiting for
has 5 coaches and each of them is equally likely to enter any coach. What is the probability
that they will all enter the same coach?

Yed WMPTAT WhHTR o Afger ied. & a1 MRl it ale ugla
3ed T ¢HY 584 3Mgd ST AP TGS HIUAR] Sd Tl
FHIOTE THIHE YRl M. o Id Uh™ HaHed UYd HRUIR! S

fodl aMmg?
A 35
B 3/125
c 125
D 925
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0/0="7

0

1

o (Infinity)

None of the above

RNdt®! PRIE AR

What value should come in the place of question mark (?) in the following number series?

wefag (7)) Sl PIvd T STa?
1123, 1304, 1534, 1800, ?

2136
1952
1994
2091

If 6 years is subtracted from the present age of Prashant and the remainder is divided by 18,
then the present age of his grandson Pranav is obtained, If Pranav is 2 year younger than
Vivan whose age is 5 Years, then what is the age of Prashant?

R URNqA] ATl JOIqd 6 dy goll ol e ST IaRd MR 18 |
AT SR, T AT Yuad 9 9 fAad. SR 5 9¥ a9 3/&olen [da g
JUGUET 2 duH HIdT ¥ @R URIiqd 99 ol 3T 2

84 years

48 years
96 years
60 years

A and B take part in 100 m race. A runs at 5 kmph. A gives B a start of 8 m and still beats
him by 8 seconds. The speed of B is:

T ST & 100 Wex WA HET Uard. Tl s fer ufd a9 e aradt.
TRl A Al g Hied! gEard gl 301 d_iel ATl 8 YebgiHl ATl gadl.
1T T 1

4.25 kmph

5.15 kmph

4.14 kmph

4.4 kmph

What decimal of an hour is a second ?

T Jdbg g1 argrm fbdar e g2
0.00027

0.000126

0.0025

0.0256
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SECTION B

Study the following information carefully and answer the questions given below it.

el feden Afedian Hieeoigdd S &1 311 fGaen wei I @1,

SRG NIO TRD TLE OEN

If first and third letters of all the words are interchanged within themselves then how many
meaningful words can be formed?

SR 94 Teardt ufgell oftT TRt SfeR ARt igaed bl R fobdl 3rigul
Yok dUR 8IS YHdIa?

1
3
4

None

PTel el

If all the consonants are changed to its next letter then how many words will have only
consonants?

SR 94 oHUast A Jeld &R aiiRd o fddll Ueg e $Hacd o SRId?
1
2
3

None

PRl el

If all the words are arranged in alphabetical order from right to left then which of the
following will be second from the left end of the series?

SR ¥4 TG Joldihgd Sldids JUIGHER dad i SRdd a) W @reid
! ¢ Wifdidel STl SIbuNgd gas 3Ria?

NIO
TLE

TRD
OEN

In above arrangement, how many vowel are there which are preceded by vowel and
followed by consonant?

RN T 3 fobdt WR 3Mgd b Sf=rendl R g FaR S 3iig 2

1
5
3
2
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Study the information carefully and answer the questions given below.

Preet starts walking towards her school from her house. The total distance between Preet
house to her school is 63m. She walks 17m from her house towards North direction to
reach at a park, then she takes a right turn and walks for 9m to reach her uncle shop. From
her uncle shop she takes a right turn and walks for 14m to reach bus stop. From bus stop,
she walks 12m in east to reach pizza hut, From pizza hut she takes a right turn and walks
3m to reach petrol pump. From petrol pump, She walks in west direction and reached her
school.

g SIessiydd 39T BRI ST @Tel fgciedn et IR .

i forea eRIqH o= Areser s SIS, arTa!. Hid BRI o= Qe Ul 3ieR 63 Hier
3Me. dl U TWURE Ul St I AR 17 Hiex =rad oira, &7 ot
3Sldichs dcsd 30T DB GhI-Id STUARITAT 9 Hiex dTerd . fo=d ghMURE
3oldidhe dcsd SN 14 Hiex dd a9 ¥ o d. SReyae, fUgsn g @
ST off g 12 Hiex arerd S, fUsei geurgd ot Suididhs acsd ud 3for 3 Hiex
TTAd Ui UUTaR Id. Ui UuTae o aigd fa=e arad foeam 2mesd 9.

What is the shortest distance between School and her house?

T3 3107 forea eRHele Taid HHt 3iaR BT 312
&m

12m

13m

15m

If point A is 3m west of her school then in which direction point A with respect to her Uncle
shop?

Tec U T emes=n ufdeer 3 Hiex sRid IR o= FIdhi ghHIde Uise U7 HIol
fGRg srer?
North

South

af&rmr

West

gfgy

South-east

3T

In which direction of her uncle shop with respect to pizza hut?
SN 8¢ dg faan ST ghM Hiv fa= 38?2
North-west

lpEs)

East

o
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Q. 28

South east

MY

North

In which direction Park is with respect of Petrol pump?
Ui U0 g ST B0 faR 3HTg?

South-east

North-west

drgog
North-east

PR

South

aférmr

How many triangles are there in the following figure?

Fraid 3figpard fadl b sied »

20
24
18
26

Renuka is heavier than Geeta. Kavita is lighter than Jaya. Punita is heavier than Jaya but
lighter than Geeta. Who among them is the second heaviest?

UGTd do Tl U&l SRd 3. Hiddrd doi ol Ual &l &g, gHar d
goi ST UeT SIRA SMg R AT U HH Sffg. il Udl gal B
SRSECEHERCAICIC I

Punita

gt

Geeta

aftar

Jaya
ofdr
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Kavita

Bfddl

D is taller than W but shorter than P. B is taller than V but shorter than W. S is taller than
B but shorter than P. Who is the tallest among all?

DB W U&T 3T 3T UUT P UeT BieT 318, B 8T V UelT 39 318, U0 w UeT 8T 318,
S BT B UeqT 3 31T UUT P U BicT 31T, ald 39 10T 3182

p

B

D

Cannot be determined

A3 ol ST IHhd A6l

Pointing to a girl , Abhishek said , “she is daughter of the only child of my father .” How is
Abhishek’s wife related to that girl?

U] ol A& dud 3ifiNes ural, "<t ATl afsaie Thad Thl Jard! gat
3MTR." TS Tl T AT B Faiferd 3mg?

Aunt

4

SECTION C

A profit-maximizing monopolist selects its output level in the

Tgqq % Wwauaran gq7 IRd AxiaR Eeiiaust HIorr faurmaeda

IdeAUaR! fRagdr 2

Elastic region of its demand curve

ArTolt IbTET dafae fAymT

Inelastic region of its demand curve

ArTot IbTal 3fddiaes faumT

Range of output where marginal revenue is rising

3R AT Uldes! oY Hid 309 dled 38

Range of output where marginal cost is falling

3Rl IdeT Urdest WY dAid @9 Ycd 3




Q.32

Q.33

Q. 34

Well behaved Consumer preferences are:
g SUHlad=Al Yddlh H _&m?h
Convex

Sfgdsh

Concave

3icdsh

Both Concave as well as Convex
afede 9 siadw argl

Sine curve

e I%

Current account transactions of a country include
ST Te] WIATA TagRId a1 Mal JHaY 38

Exports and imports of goods

kg g enfor smaa

Exports and |mports of goods and forelgn exchange reserves

I A0 WP Ia Arare fFara ffr smard

Exports and imports of goods and invisibles, including services

a1 4 A1 SN0 ey ok fHard S ST

Exports and imports of goods and capital flows

X 3T Higael Yargrr fafa enfor smard

The value of the slope of a production isoquant is equal to the
Y IdTe IHTAT IR (slope) Hed ® WIeladed! SO ONRISAD

3d 2

Ratio of the marginal products of the two inputs

G TeHrT WA IdTed OIRR

Amount of one input used divided by the amount of the other input

qIRAT UhT SMGHRT IFHH 9 U1 JAGHE! ghd i oM

Ratio of the marginal utilities of the two inputs

a3 HHid IYAIfTa oNR

Ratio of the marginal costs of the two inputs

GH SfeHrer dH Tdd NN




Q.35  Price ceilings

HAd fbaa mafar

A Always increase consumer surplus
e URSd AT dead
B Always decrease consumer surplus
Tt TR AvIiie HH FRA
C May decrease consumer surplus if demand is sufficiently elastic
arrolt Rt odfee SR Urgdhid ATHYRT ol g1 Xdhd
D May decrease consumer surplus if demand is sufficiently inelastic

Aol R srerafe Sy Uedhia AR $H 8IS Udhd

Q.36  The incidence of which of the following will entirely be on the monopolist —

WTAAUD! Pl HIHR QU0 AFIGRIGR TSl

A Specific tax
fafry &

B Regulated monopoly pricing

fafrafera
C Lump-sum tax
THIPH P

D None of the above

RIAUD! HIUg! TRl

Q.37  Afall in the interest rate

AN 9¢
A Will reduce savings unambiguously
Sad F:dgun el B
B Will reduce savings unambiguously only for a lender
b HABRMG! §dd U0 HH B
C Will reduce savings unambiguously only for a borrower
$d5 HOlGRIIIS! dad [:HRU0 S Hd
D Will have an ambiguous effect on savings because of an ambiguous substitution effect

i yataar uRumMge sadiak i g9d ued

10



Q.38  In the long run the unemployment rate equals

&Y Premadia RISFRET X @ 9AE 3[ar

A The natural rate of unemployment.
ERUSHINCIBE IR G

B The cyclical rate of unemployment.
SRIVIRIET =hIg &

C The sum of the cyclical and natural rate of unemployment.
SRISFTRI=T Thi ST A4ife el o’kie

D Zero

RS

Q.39  Acartel aims at maximizing

Hlcadl I WEaud!  Hedd B0 8T 3ar

A Share of output of members
Tl IdleAral dlel
B Goodwill of the members
geidl gigws]
C Individual profits
Bl
D Industry profits
WP

Q.40  Autarchy means that

I e wwaquiar muet

A A country’s consumption possibilities are given by its production possibilities
G IUHNT RIdl ATl SdIe URdAgR fadl §ird

B Equilibrium has been reached with the maximum amount of international trade
G'I'I?RTI'QTE[ OR SRKid SR VUG 6ed G Iedl STl

C Equilibrium attained with the maximum gains from specialization and trade
faRsieur Sl ARG Sild SRd ®ae Waqd qadaid Jrear Sidl

D The nation has such a high standard of living that there are no poor people

ST JEUNHHTET Soll Tdel I Uldediay 3r9dl &1 <¥Id TRid die a9drd

11



Q.41  Which of the following reduces the interest rate?

Gt Uebl HIUAT Uedh ATl &X DHH! DHal 2

A An increase in government expenditures and an increase in the money supply
WER AT a6 ST U= Rasad ale

B A decrease in government expenditures and an increase in the money supply
WHR TAWL g AT UM Rasdd a6

C An increase in government expenditures and a decrease in the money supply
WHR TAWL dqTe A UM Rasdd b

D A decrease in government expenditures and a decrease in the money supply

WHR I °c M7 UM Rasad ue

Q.42  Fiscal and Monetory Policies are intended to combat

fadiia onftr aeHfdwa®d oRO o FRIGHRU HRUGrAT 87 dTIRA SITdTd

A Frictional Unemployment
YYD SRISTIRY

B Structural Unemployment
ReEIED

C Both (a) and (b)
(3) o (&) ag

D None of the above

RNIAU®! Hrelel ATgt

Q.43  Justice in taxation is best ensured by applying the principal of
TTAd daral 3gdd Hedi, B SMBRUNd I G @El adl Id

A Equal absolute sacrifice
A fRUe @

B Equal marginal sacrifice
THE A A

C Equal proportional sacrifice
JH UHIUT T

D Quid pro quo
gfcrey

Q.44  Which one of the following is NOT a source of the 'Union Tax Revenue' ?

TTAAUD! BIOAT B T B Hegarl did ARl

A Property Taxes
HICTHTT PR

B Corporate Taxes

7 &

C Custom Taxes

NICINGE

D Wealth Taxes
Uil R

12



Q.45  Which of the following statements relates to the trade in ‘invisibles’?

qeiade! HIod AU 3egr AURRN IEfd Se?

A Trade in illegal items, such as drugs
SRS 3fdY aeqdl AUR
B Specialised trading in financial assets
3 AraaTed faRidied omUR
C Trade in services, such as project reports, business process outsourcing, etc.
9T AR, O Ybed  3HgaTd, STa9rd Ufehdd 3M3eifRiT, 5.
D Share tradmg in the companies, which are registered abroad

ReRMTd Agulipd Hudiaed QR i

Q.46  If economy is operating at potential GDP, an increase in money supply will lead to:
Y SieldiaR SrdcgaRil HRIRd e,
Teiiau®! IV ga-ale sisd 2

A Cost-push inflation

T Affa gdHae

B Structural inflation
RAAIHP dddddle
C Demand-pull inflation
ddqdle

D Stagflation
Haldad dcdie

Q.47  The relationship between the stock of money and the stock of hlgh powered money is

O 9131 3T I ok U 9rel g 9eY

A Determined solely by the currency-deposit ratio
quftl 9e--dd ORIER Fuilkd &ar S
B Determined solely by the reserve deposit ratio
qufutt Ia-3a UIRRIGER [Ruifa &a Sl
C The money multiplier
EGIKINED
D Between zero and one

YA AT Th R

13



Q.48

Q. 49

Q. 50

An overvalued Indian rupee in the foreign exchange market will have which one of the
following consequence?

fac=h fafmg soRusda sifawifed YRA FUamEl Yeiaud! HIowd
aRume gisa?
Make imports costlier and exports cheaper

3T HE Snfor Fafd W g
Make imports cheaper and exports costlier
Td % Sfiftr Fafd wer gied
Will imp\rove bal\ance of payments
UdeRdld JYUIR]

Give protection to domestic industry against foreign competition

R W <RI SR WReur ffea

The One Rupee currency note bears the signature of the

TH I9IrAl 9ad Alcdk gl Wel g
Governor, Reserve Bank of India

TR, e d9o i e

The Minister of Finance

3rfrE

Chairman, State Bank of India

3eme], We gb A sfear

None of the above

RNIAU®! Hrelel ATgt

Current account transactions of a country include

ST AT WTATAT HdgRId a1 Sl JHE gl

Exports and imports of goods

fafa sfor sma awq

Exports and imports of goods and invisibles and foreign exchange reserves

TG SffUT 3fERY axq gl fald 9 omard ool fae=h de wmet

Exports and 1mports of goods and invisibles, including services

JaIg == AT &@waﬁ%ﬁﬁuﬁaaﬂﬁrw

Exports and imports of goods and invisibles and capital flows

TG 0T SfERY okl fFaid 9 Sd YT Yigdd varg

14



Q.51

Q.52

Q. 53

The money multiplier in an economy increases with
feraRdia o T  Yidd dled Wil

Increase in statutory liquidity ratio

YIS TR ORI dT6

Increase in the population of the country
oMl eI d dic

Increase in cash reserve ratio

G I OIRRE a1

Increase in banking habits of the population

Producer surplus is the area

Teiddel  § Ided AU &F 3R

Below the demand curve and above the supply curve

TTTO aehTARATel 30T YRAST dehlATaR

Below the supply curve and above the price

RAST qehreardret 301 fhaadieameR

Above the demand curve and below the price

ARTO dehTtar 3101 fdhadarara

Below the demand curve and above the price

ARTON gehTeaTaTall 3107 fdhd=aray

Agricultural income tax is a source of revenue to-

PU IOF PR T A IAF Hid 378

Central government

&g WHR

Local Administration

RS TR

State government

oY HIDPR

Both central and state government
g d Aoy HIDPR 3|%|

15



Q.54  If good x and good y are perfect complementary goods, then the indifference curves are
SR x MY y 9% WRERHA Q01 T 3did ok dfdl dexddl a3
A U —shaped
U ATPRId

B Straight line
LSECRL |

C L —shaped
L ATPRTHT

D None of the above

CRNPEIEIRF GBI

Q.55  Revenue of the State Governments are raised from the sources, except

TTeAAdd! IO I WBRAT Heggd Aid ATal 2

A Entertainment tax
PIHT D DY

B Agricultural income tax
DY AT IR

C Expenditure tax
T d IR

D Land revenue

Q.56  National Income in India is the
YRAI I IO BUN 3R

A Net National Product at factor cost
C o
Ucdh TAIR Hods AP IdeA

B Net National Product at market price

oR fhadaR Foae I IareA
C Net Domestic Product at market price

IR fHAdaR Feaw gxiaid SareA
D Net Domestlc Product at factor cost

Jcodh {qtlleR fFodes anla]ia 3dlgd

Q.57  The Malthusian principle of growth of human population argues that
OHdl Al SeAardiaTadA] ATy g RgiagaR

A Human population growth has been restricted by changes in climatic conditions

AW IR ST Sedige AFdl dibae dlelak Hafal Sedm 3ied
B Population growth is constrained by the rate of growth of food production

SFAYTATAT SMTCATH Tl XS Adued dle Haifed 38
C Historically populatlon growth has been constrained by decline in gross fertility rate

ABIABAT dIeldR Jbd o+ & HH M FAGT AT

16



D Expansmn of human populatlon leads to mlgratlon to less densely populated areas

Odl A AR HHl dibakl 3¥dedl HRd RIdidR gld

Q.58 In an open economy with a system of fixed exchange rates

fRR o &R yomeig gad siieeRay,

A Monetary policy is an effective tool for stabilizing the economy

SfaRe WY Ul Io favds gRU § Th UM A1 Sie
B Fiscal policy is a by-product of exchange rate policy

SN GR0 § AT @ dRu IU-Sded 88
C Fiscal policy is an effective tool for stabilizing the economy

fTaRT WA SIS IShINg URU § Th YHTE TieH 318

D Both (a) and (b) above
(31) SoT (&)

Q.59  For the testing of consistency and viability of a planning project, which of the prices are
used ?

oM Uehedred] a3 Sdgridel arauiiame!, sl et
qIR Hdl Sar

A Market Price

IoR fhaa

B Administered Price

g fbad

C Shadow Price

o fhaa

D Controlled Price

frifaa fbad

Q.60  Marginal cost of a pure public good is
C o [a} [al e Q
s sdlgvlld dxqdl <Al [pHd EISCdl &Iﬂ?f

A Zero or close to zero
A Tng] [l video

B One

%
C Both (a) and (b)

(3 oo (&) q
D Very high

qu 3

* ok K K ok ok ok ok K %
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